Exam. Code : 103206
Subject Code : 1200

B.A./B.Sc. 6™ Semester (Batch 2020-23)
QUANTITATIVE TECHNIQUES

(Quantitative Techniques—VI)

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth
question may be attempted from any section. All
questions carry equal marks.

SECTION—A

I. - Discuss ordinary least squares method. Fit a linear

regression model to the following data taking 'X' as
a dependent variable :

X:50 45 70 75 90 55 100 120 135 130

Y: 60 80 100 130 140 160 180 200 220 240
20

II. (a) Discuss the Scope, nature and methodology of
econometrics.

(b) Explain Simple linear regression model.

10+10=20
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. (a) Explain Gauss-Markov Theorem.
(b) Differentiate between R? and adjusted R’. Give
their importance in regression analysis.
10+10=20
IV. (a) Whatis test of significance ? A stenographer claims
that she can take dictation at the rate of 120
words per minute. Can we reject her claim on
the basis of 100 trials in which she demonstrates
a mean of 116 words with a standard deviation
of 15 words ? Use 5% level of significance.
(b) Explain BLUE. 10+10=20
SECTION—C
V. What is Multicollinearity problem ? What are the
sources, consequences and tests of Multicollinearity
problem in regression analysis ? 20
VI. (a) What are the types and consequences of
specification errors ?
(b) Explain tests and remedial measures of
heteroscedasticity. 10+10=20
3278(2523)/1G-28701 2 (Contd.)

SECTION—B



VII. (a)

(b)

VIIL (a)
(b)
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Differentiate

between Distributed Lag and Auto
Regressive Models.

Explain the sourceg and remedial measures of

auto-correlation problem in regression analysis.
10+10=20

Explain the uses of dummy variables.

Explain the tests to dete

ct the auto-correlation
problem in regression analysis. 10+10=20
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Exam. Code : 103206
Subject Code : 1200

B.A./B.Sc. 6" Semester (Batch 2020-23)
QUANTITATIVE TECHNIQUES
(Quantitative Techniques-VI)

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all. selecting at least
ONE question from each section. The fifth
question may be attempted from any section. All

questions carry equal marks.
SECTION—A

I. Discuss ordinary least squares method. Fit a linear
regression model to the following data taking 'X' as
a dependent variable :

X:50 45 70 75 90 55 100 120 135 130

Y: 60 80 100 130 140 160 180 200 220 240
20
II. (a) Discuss the scope, nature and methodology of
econometrics.
(b) Explain Simple linear regression model.

10+10=20

3278(2523)/1G-28701 1 (Contd.)



SECTION—B

[II. (a) Explain Gauss-Markov Theorem.

(b) Differentiate between R? and adjusted R*. Give
their importance in regression analysis.

10+10=20

[V. (a) Whatis test of significance ? A stenographer claims
that she can take dictation at the rate of 120
words per minute. Can we reject her claim on
the basis of 100 trials in which she demonstrates
a mean of 116 words with a standard deviation

of 15 words ? Use 5% level of significance.
(b) Explain BLUE. 10+10=20
SECTION—C

V. What is Multicollinearity problem ? What are the

sources, consequences and tests of Multicollinearity

problem in regression analysis ? 20

VI. (a) What are the types and consequences of

specification errors ?

(b) Explain tests and remedial measures of

heteroscedasticity. 10+10=20
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SECTION—D

VII. (a) Differentiate between Distributed Lag and Auto

Regressive Models.

(b) Explain the sources and remedial measures of

auto-correlation problem in regression analysis.
10+10=20

VIIL (a) Explain the uses of dummy variables.

(b) Explain the tests to detect the auto-correlation

problem in regression analysis. 10+10=20
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Exam. Code : 103206
Subject Code : 1190

B.A./B.Sc. 6" Semester (Batch 2020-23)
MATHEMATICS

Paper—II : (Numerical Analysis)

Time Allowed—3 Hours] [Maximum Marks—50

Note :—Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

I.- (a) Find both roots of the equation x? - 3x + 2 = 0,
using method of false position.

(b) Find a root of the equation x3 — x = 3 = 0 by
Newton-Raphson method, correct upto 2 decimals.

2. (a) Solve the equations by Gauss elimination
method :

2X+3y+z=9,x+2y+32=6,3x+y+2z=238

(b) Using Gauss-Seidel iterative method solve the
following equations :

20x +y -2z =17, 3x + 20y - z = —18,
2x - 3y + 20z = 25
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(a)

(b)

(a)

(b)

(2)

(b)

SECTION—B
Show that :

sin ah

A tan(ax + b) = B .
cos(ax + b) cos(ax + b +ah)’

Find the values represented by the expressions

Af(X)
Ef(x)

%f(x) and . when f(x) = %,

Ify isa polynomial for which fifth difference is
constant and y, * ¥; © ~784, y, t ¥ T 686,
¥, T Y= 1088, then find y,.

1 1 1/2
Show that [A — -—82] — 6[1 + —82] ;
2 4

SECTION—C
Find f(2.72) using Lagrange’s interpolation from :
X 2t 2.8 2.9

f(x) | 0.3704 0.3571 | 0.3448

Using following data interpolate the value of
£(7) s

Ix 05 | 15 |30 50| 65 8.ﬂ

E‘(x) 1625 | 5.875 |31.0 [131.0 | 282.125 521.0\
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6. Compute f(9) by Bessel’s formula :

o 0 5 10 15 20
f(o) [ 1.5708 | 1.5738 | 1.5828 | 1.598] 1.6200

SECTION—D

n/2

n/2
7. (a) Evaluate _[ Isin(x + y) dxdy, by Trapezoidal
0 0

rule, by taking h =k = E

(b) Given that y' = x — y* and y(0) = 1, form the
Taylor’s series upto x°. Compute y(0.1) correct
upto four decimal places.

8. Use RK method of order 4 to find y(1), given

y(0)=1and ¥ _Y =X (Take h = 0.5)
dx y+x

3290(2523)/1G-28705 3 _ 5500




Exam. Code : 103206
Subject Code : 1164

B.A./B.Sc. 6" Semester (Batch 2020-23)
PUNJABI (Compulsory)

Time Allowed—3 Hours] [Maximum Marks—350
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Exam. Code : 103206
Subject Code : 1163

B.A./B.Sc. 6" Semester (Batch 2020-23)
ENGLISH COMPULSORY
Time Allowed—3 Hours] [Maximum Marks—>50
Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question

may be attempted from any section. All questions

carry equal marks.
SECTION—A
[.  Answer the following questions briefly :

(i) Why did Raju's father not admit him to the Albert
Mission School ?

(i) What did the villagers expect Raju to do for them ?
(i) What did Rosie do after her husband had abandoned

her ?
(iv) Why did Raju forge Rosie's signatures ?

(v) Why did Raju decide to go on fasting earnestly ?
5x2=10

II. Isthe title of the novel The Guide appropriate ? Explain.
10x1=10
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I11.

IV.

VL

SECTION—B

How does the play "'The Will' dramatize the theme of withering

human relationships ? Discuss.

OR
Write a character sketch of Emily Ross.
10x1=10
Discuss 'Villa for Sale' as a hilarious comedy.
OR
Write a character sketch of Gaston.
10x1=10

SECTION—C

Bring out the theme of the play 'Progress'.
OR

Bring out the supernatural elements in the play ‘The Monkey's

Paw'.
10x1=10

Write an essay on any ONE of the following topics :
i) My College Library

(i) Indian Woman Today

(iii) Environmental Pollution

(iv) Superstitions. 10x1=10
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SECTION—D

VIL. Describe Mrs. Stevenson's efforts to trace the call which
gave her information about the planned murder. Was she
successful in tracing the call ? ("Sorry, Wrong Number')

OR

Justify the title of the play 'Sorry, Wrong Number'.
10x1=10

VIII. Give a critical analysis of the play No Eggs, No Eggs'.
OR

Write a detailed note on Shaw's wit and humour in the play
"No Eggs, No Eggs'.
10x1=10

3251(2523)/1G-1470 3 17000




Exam. Code : 103206
Subject Code: 1176

B.A./B.Sc. 6™ Semester (Batch 2020-23)

ECONOMICS

(Quantitative Methods For Economists)

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at least

. (a)
(b)
(c)
2. (a)

ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

Give the definitions, types and examples of :

(1) Set, (i1) Relations and (i11) Functions. 10

Explain the maxima and minima conditions for single

variable function. 5
2 _

Evaluate : lim__ , i : 5
) el

Find dy/dx if :

@ y=@3-5x)". 5+5=10

(b) Find the extreme values of the function :

y =x* - 3x* + 3x 10

3263(2523)/1G-29702(T) 1 (Contd.)




SECTION—B

3. (a) Calculate the mean and standard deviation from the

following data :

Value 20-29 | 30-39 | 40-49 | 50-59
Frequency | 4 | 14 | 24 | 2
Value 60-69 | 70-79 | 80-89

Frequency 16 6 3 10

(b) Find the missing frequency from the following
distribution of daily sales of shops, given that the
median sale of shops is Rs. 2,400 :

Sales (in ’00) 0-10 | 10-20 | 20-30 | 30-40 | 40-50

No. of Shops 5 25 ? 18 7

10

4. (a) The arithmetic mean and the standard deviation of
a set of 9 items are 43 and 5 respectively. If an item
of value 63 is added to the set, find mean and standard
deviation of 10 items. | 10

(b) Find the Geometric Mean from the following

data :
Marks 0-10]{10-20{20-30|30-40|40-50
No. of Students 5 7 15 25 1 8
10




Calculate Karl Pe
the following data :

SECTION—C

arson coefficient of Skewness from

—

Size

1

r—

213

Frequency

10

8 |

equations :

30|25
From the data given below find two r

4 15

7

12

20

Ll

egression

X |23

26

33 (30

29|34

27 | 36

32 |30

Y

—

4]

44

47 | 39

34

30

29 | 28

31|37

SECTION—D

20

Construct the Fisher’s Ideal Index for the following

and show that it satisfies the factor reversal test and
time reversal test -

Commodity Base Year Current Year
Price | Quantity | Price Quantity
A 6.5 500 10.8 560
B 2.8 124 2.9 148
C 4.7 69 8.2 78
D 10.9 38 13.4 24
E 8.6 49 10.8 25
20
From the following table interpolate the missing
values :
Year 0 1 2 |3 4 (5] 6
Production(‘000 tonnes) | 200 | 220 | 260 | 2 350 [ ? | 430
20
3263(2523)/1G-29702(T) 3
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Value 2029 3039] 4049 5059
Frequency 4 14 24 ZZjN
Value 60-69| 70-79| 80-89
Frequency 16 6 3 10
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(of) TEST € IAe feadt &t farsfeus @5 3
IH I8 INE93T T U3t marl, fa@fa garst
d Hox feadt 2,400 guz I -

0-10

Sales (in '00) 10-20 | 20-30{30-40 | 40-50

23 Y 18 7

No. of Shops 5

10

4, (@)9@@#@%?3&3?%»@
it feearg gHET 43 M3 5761 Add AC
g Ww 63 T B wreler At At 9, 3°
10 mrEteHt T HoHs w3 fimrdt feearg &3 |

| 10
) Jot T3 327 3 faGRfea Wit &9

| 30— 40 | 40— 50
25 8

20-30
15

10-20
7

\ Marks 0-10
\ No. of Students 5

10
FI—F
Jot €3 327 3 I9® Unidgrs ©
o IEeT 9
Sizee | 1]2]3]4]5]6|7
Frequency | 10 [18 [30 [25 123 [2] 20
Jot f&3 327 3 ¢ foardms AHiaEst & usT &g -

5. AfG83R I

6.

X

23

26

33

30 |

29

34

27

36

32

30

Y

41

44

47

39

34

30

29

28

31

37
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[C ommodity Base Year Current Year
Price | Quantity | Price | Quantity

\ A 6.5 500 10.8 560

B 2.8 124 2.9 148

C 4.7 69 8.2 78

D 10.9 38 13.4 24

E 8.6 49 10.8 25
20
o ot frt Fed 3 dn 98 Nt § fealive @@ ¢
Year 0o 1112 3[4(s5]6]
Production(*000 tonnes) | 200 | 220 | 260 | ? | 350 | 2] 430]
20

(Hindi Version)
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